
Y CTaHO~Tb COOTBeTCTBHe MC)K)..(YHCXO)..{HbIMI1BemeCTBaMI1 11COKpameHHbIMI1y k"'M--ll~ ~
BOHlIbI l1(3'fl1X peaKUI1H .

(!J0PMYJlbl aeUICCml3 COKpGUler/HOe UOHHOe YijGI3HeJlUe

1) FeC!) + NaOH a) FeZ03 + 6H+ = 2Fe + + 3HzO
2) FeCb + KOH 6) Feo + 2H+ = Hz + Fez+
3) Fe + HCl B) FeZ+ 30R = Fe(OH):i!
4) FeZ03 + HN03 r) Fe3

+ + 30R = Fe(OHh!
)..{)Fe2

+ + 20R = Fe(OH)2!

(!JOpMyJta

1) HF
2) K2S04

3) MgS03

4) Na2S

HG36GHUe .,'.

a) CYJIbcPaT KaJIl151

6) cPTOpl1)..{KaJIbUI151

B) CYJIbcPl1)..{HaTpl151

r) CYJIbcPl1T MarHl151

)..{) ImaBI1KOBa5l KI1CJIOTa

Y CTaHOBI1TC COOTBeTCTBHC Me)K)..{YcPopMYJIaMH coe)..{I1HeHI1H ¢occPopa 11

CTerreHblO OKCI1JIeHI151cPoccPopa B HI1X:

1) PH3 a) +4
2) H3P04 6) 0
3) P203 B) -3
4)P4 r)+5

)..{)+3

B 4. YKa3aTb KJlaCC llCw.ccrna, 060JlIaLleHHOro B cxeMe npeKpaw.eHI1H «X».
ZnO ---. X ---. Zn(OH)2

13 5. )lonOnI!HTe Ha3BaIIHC BCUICCTB.

KJIacc oprUHBLICCKHX BCW.CCTBC 06w.eH ¢OPMYJIOH CnH2n+IOH HaJbIBaCTC5I ...

OTBCT---------

C 1. K 801' 20% pacTEopa rIl)..(pOKCli).\a HaTpH51 rrpHJIHJ1J1200r 10% pacTBopa ceptwA KI1CJIOTbI.

B::'I'iHCnI1Tb Macey nOJIyLJeHlIOH COJIH.

C 2. Ul-HIK MaCCOH 1301' C MaCCOBOH lloJIefI rrpl1MCCeH 7% B3aI1Mo)},cr!CTBycT C C:OJi;hIUH KI1CJiOTO;;\

HanlH oO·beM BOLl,OpOna (,H.y.), nOJ1Y'H1BWerCJC5InOCJIe peaKUl1l1, eCJII1 06'LeMHa5l DOJI5l LlbIXO.1a

Bonopona paIHla 90% OT TeopenlLlecKH BOJMO>KHOro.


